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Answer all questions in the spaces provided. j bax

e etk SN S o s S e S, 2 |
| 1 Circle the number that is a multiple of 25 }
i [1 mark] |
‘ i
| 55 65 @ 85 |
1 |
| |
| |
2 Circle the value of the digit 3 in the number 10.23 |
1 mark] |
0.03 [ |
| 3 ¥ 3 3 |
1000 100 10 ‘

3 Circle the lowest of these temperatures.
[1 mark] |

-2.1°C 0.4°C -5°C 1°C

1
i
i
|
I
1
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| 4 Circle the letter of the shape that has exactly one line of symmetry.
‘ [1 mark]
| |
! P Q ;
| |
i @
i r
i
|
|
|
|
R S :
1
l
i
i
l
|
|
I
!
|
|
|
|
Turn over for the next question |
| 4
= |
Turn over »
LI Lt
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5 (a)  Simplify fully dxd ! i
[1 mark] |
I
Answer d g
|
5 (b) Simplifyfully n<+n
[1 mark]
Answer ‘
5 (c) Simpiy fully %x 61 |
[1 mark]
' Answer ,L Q J‘
|
L R
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5
| Do not write
| oulségimo
6 (a) Write a number in the box to make the calculation correct. {
[1 mark]
16 + | )ooo® = 0.016 |
|
1
|
6 (b)  Write a number in the box to make the calculation correct. |
[1 mark]
\
4‘
184+3.9+| ¢\ | =27 |
r
\
|
l
6 (c) Write a fraction in the box to make the calculation correct.
[1 mark] }
1 ' 1
— x Ve e S
2 G 8
i
|
|
6 (d)  Write the same number in both boxes to make the calculation correct.
[1 mark] ;
9 [ x| 19]= st
7
. Turn over »
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7 Three groups of people, A, B and C, have taken driving tests.

| Do not write
outside the
box

7 (a) Here is information about the number of tests taken by the people in A.

Group A |

Key: o represents 4 people

One test o o o |
Two tests Q Q Q Q |
Three tests o c |

Here is information about the number of tests taken by the people in B.

One test Half the number in A who have taken one test.
Two tests 4 fewer than the number in A who have taken two tests.
Three tests 10 more than the number in A who have taken three tests.

Complete this pictogram for the people in B. ;
[3 marks]

Group B

Key: o represents 4 people |

ot O s
Twotests | (0) @ @ |
Thres tests | (25) @ @ @ |

1B/M/Nov22/8300/2F
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7 (b) Ingroup C there are 25 people.
17 of these people have passed a test.
One person is picked at random from C.

Work out the probability that the person has not passed a test.

502N i - ¢

[2 marks]

Answer

N\

8 Work out the value of 3r+4¢ when =13 and ¢=-2

ES  girtiag

i
[2 marks] ‘
\

Sy L LAt~

-

4

Answer ? |

Turn over for the next question

e ————————————————————————————————————————————————

077

Turn over »
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9 Hamish has saved 295 coins.

Each one is a 20p coin.

He gives an equal number of 20p coins to each of his 8 grandchildren.
He gives them as many coins as possible.

How much, in £, does he have left?
[4 marks]

l99 = 5. 96 .51

5 v ¥ 2% %

/i R N e,

Aot N0

Answer £ L&

I -
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10 Here are two sets of numbers.

|
| |
| SetA 2 @13 ) RT3
i ~

| SetB 1 15@30——) 6L |

One number from Set A is swapped with one number from Set B.
The total of the numbers in each set is now the same.

Which two numbers are swapped?

J
|
|
w [2 marks]
| 62-S%¢—% =2 f
I
Answer ok and (€ ‘
:
|
|
11 Rearrange m=p-5 to make p the subject. |
Circle your answer. e |
p=-’5£ p=m+5 p=5m p=m-5 |
1
r
I
|
|
|
| £l

Turn over »

]
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12 Here is the distance-time graph for a car between 1 pm and 3pm

304—H—— L1 0 0 O I e

25~ BRI T o 5 R - et

Distance from 20—~ e din i s pged
home (miles) \

15

R A

0
1.00 1.30 2.00 2.30 3.00
Time (pm)

12 (a) Work out the total time that the car is not moving between 1 pm and 3pm
State the units of your answer.

[2 marks]
I-306 —17.00 30 MO
2.1 —2.3a - | S hiaukes
Answer S minuheo
12 (b)  Work out the total distance the car travels between 1pm and 3pm
[2 marks]
Regi s = S0 it
Answer € miles
I Zor
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13 A and B are points on a circle. "
C is the centre of the circle.
Not drawn J
accurately ’
‘ 1
' \
\
| 1
|
|
|
A B |
!
?
Tick one box for each statement. 9
| [3 marks] |
J ;
l Definitely Might be Cannotbe |
\, true true true 1
\ \
|
» .f
i Line AB is a tangent to the circle v ;
| |
AC is an arc of the circle \/ ’
|
Triangle ABC is equilateral \/ :
|
E
|
!
|
I

Turn over for the next question

|

Turn over »
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14 To travel to a festival, a group of people will hire a minibus. ’

This formula has all costs in £ '

w 165 + cost of the minibus
Cost per person = -
number of people in the group

14 (a)  With 12 people in the group, the cost of the minibus will be £567

|

\

1

| Work out the cost per person.
\

[

[2 marks]
By 561 iEt g |
= e
il |
|
|
Answer £ cl |
|
14 (b) With 15 people in the group, they will hire a different minibus. I
The cost per person will be £50
Work out the cost of this minibus.

[3 marks] |

X |
|

-

Hos
M Fensr e

-

&

150 = 16S+X — X = 5%C

Answer £ § 8S

i e

T T T T T T T T T T e S S
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15 The sketch shows

theline y=x
line A, which is vertical
line B, which is horizontal.
The point (3, 5) is on both line A and line B.

' A ¢
3, line A iy

Write down the coordinates of P and Q.

|
|
|

[2 marks]
Pl it G RN et B ) |
Turn over for the next question
TN
Turn over »
L oy
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‘ 16 Some people were asked for the main way they listen to music.
| A pie chart is drawn to represent their answers.
|
1
: Not drawn
| accurately
|
i
|
i
|
|
. |
16 (@)  Work out the size of angle x.
[2 marks]
360 -S0-%a -1 = 65
Lo
- R ¥
Answer ~ degrees
I S
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— i d —————— | Donotwrite
| i
1 16 (b) 135 people said Computer. ‘
| How many people said Phone? '
[3 marks] |
‘ |
“ '3_5. =1.F
‘ q 0 |
R 2L 2. L) |
|
Sx 6 = 143 |
6
|
Answer L Q[- z o {
| |
i !
i 17 Complete this statement. %
[1 mark]
i
108 = 16O million |
100000000
Turn over for the next question
| T
Turn over »
e O
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18 A football team plays two matches.

18 (a)  For the first match, 40000 tickets are sold.
Assume that each ticket costs £38.50

Work out the total amount of money from ticket sales for this match. ‘r

| 2%.56 x 40000 = 154 00G0

Answer£ 'S £ CO0

18 (b) In fact, for the first match,
some of the tickets cost less than £38.50
and

some of the tickets cost more than £38.50

What does this mean about the total amount of money from ticket sales for this match?
Tick one box. i
[1 mark] l
|
It will be more than the answer to part (a) |
'1
It will be the same as the answer to part (a) 1\
|
i
It will be less than the answer to part (a) .

\/ It is not possible to tell

|
1
[
- ek

LT

l 1B/M/Nov22/8300/2F
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AL

17

e = e P ; ~ | Donot write
[ outside the
box

For the second match, the number of tickets sold increases from 40000 to 55000 ‘w
Is the increase in tickets sold more than 35% ? ‘:
l

You must show your working. »

[3 marks] ‘

!

SO = N

= 00 = 40 00 - |

G0 Q00 i

|

B g e () N §

ST = L R s s il ]

Yes—it D mere _than 357/ ‘

|

|

|

On a train, there are between 60 and 70 people. E

The ratio of adults to childrenis 5:4 ‘|

|

Wark out the total number of people on the train. !

[2 marks] |

) . 1

6 S+44=9A A time tame bexuirin (O and 10

63 g3=9=1 e ‘\
x 1\ > 1

i

|

de il 3 'l

|

Answer ( 2
N

|

Turn over >
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20 The composite bar charl shows information about the percentage of drinks sold by a i

cafe in 2007 and 2019

Key: I:J Coffee Eh_] Tea . Other

A

.
90
80

70

Percentage of o8

drinks sold
50

40

30

20

2007 2019
Year

20 (a) In 2007 the café sold a total of 24 000 drinks.

How many more teas than coffees were sold?
[2 marks]

C_w/__"."__l xliots s WSlg
| Co - e

s s
R B (R .
L4 0

Answer ,Lf“q 6

i

IB/M/Nov22/8300/2F
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| 20 (b)

21 (a)

21 (b)

19

Were more coffees sold at the café in 2019 than in 2007 ?
Tick a box.

Give a reason for your answer.

LR dopa  Enot  She mamba,  Seied

Yes No \/ Cannot tell

[1 mark]

N\ 20(6‘,,__

Jlak i gerCean aje

k is a whole number between 40 and 50

The cube root of k is 3, to the nearest whole number.

Work out the largest possible value of k.

Jnl-() =98 1@'(\:3--\

[2 marks]

3.5%-¢1.%

aﬁl vo3ES

Answer LJ_ ’L

Fay tries to solve  x?= 100
She says,
“The only possible value of x is 10"

Give a reason why she is not correct.

0 w5 GLLDG: G < U SGfer

[1 mark]

| Do not write
| outside the
box

e

Turn over »
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[ 22 (a)

20

Here is a cuboid.

w, x and y are different whole numbers.

yem
//” xcm
wem
The total length of all the edges of the cuboid is 80 cm
The volume is greater than 200 cm®
Work out one possible set of values for w, x and y.
[2 marks]
(‘L(h\,*l’ IJ"‘)‘\-—' sa — WW4gX ﬂ\}v 70
o X6 5 1o
J
Cl-%eh . XS =it o
w= 11 %= S = &,
L S

| Do not write

outside the
box
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|
t 22 (b) Here is a solid cube.

|
|
|
|

3a cm

Circle the expression for the total surface area in cm

2

3acm

36a 54a 364
23 The equation of alineis y=3x-6
Circle the coordinates of the y-intercept.
[1 mark]
@ -6,0) ©.9) (3,0)
Turn over »
L vt

'| Do not write

outside the
box
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'24 (a) Workout 2.8*+ \158.76 ‘ "
‘ Give your answer as a decimal. LA 9 0N ((ﬁ CuiC Cr
‘ [2 marks]
| o B T 6 SIS L O
1 e I Dl A S e ot B S i S LT e e
[ . £
| Answer & 0.0 (s L
! L(_ - c
’ 14 (R Uil Tik_
24 (b} Workout, ,Sooxil _
4.2x10°
Give your answer in standard form.
[2 marks]
6.649 5.
e alD
G. 1
[Gs X10°
(2 %S s
Answer X O
25 A tank contains 40 litres of water.
25 (a) Water leaks out of the tank at a rate of 1.2 litres per minute.
The leak is stopped after 20 minutes.
S Ao e
Show that, when the leak is stopped, the tank contains 16 litres of water.
R [1 mark]
|- %2 LY
Go-14 = 16
e >y

Do not write
outside the
box
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23
Do nol write
outside the
25 (b) The tank is refilled with water from a tap. | -
The graph shows the amount of water in the tank after the leak is stopped.
|
\
‘ A
HAIE |
401 ’ /
; st
L .
30 / -
25+ - e o R 3
| Water in tank / I ;
(|lt|’08) 204+ / e Re Al A RS S HIEEH Lt & ‘
15.. SESRAEEE MERRN NS el ke b b
10 T - 1
5 | J
0 : >
* 0 5 10 15
Time (minutes)
Complete this report by writing a number in each answer space.
[3 marks]
Report
' 3 minutes after the leak is stopped, the tap starts to refill the tank.
The rate at which the tank refills is fZ litres per minute.
>l - ( -
Ta cind £ (}(M\U\k (e (O0k s He
Qteepne>) (Kl \unQ 4O-16 ey 4
- ¥ . - -
B e
BT
Turn over »
i S
L e T S R ST
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26 Here is a triangle.
Not drawn
accurately
14 cm
)!
Bl
9cm
Use Pythagoras’ theorem to work out the value of y.
Give your answer as a decimal.
[3 marks]
2 1
\, j . 1+ q = 'L(-
A 1 5
L:\) - ¢ =49
1 ~d
kj = 8L e | =S
f':‘) = 10"
y=_ TGy B\ cm
1B/M/Nov22/8300/2F

| Do not write

outside the
box




mmerevise.co.uk

25
Do not write
| oun;g:lh-
! 27 The length of this rectangle is 6 times the width.
|
’ o Not drawn
[ X i accurately
' 6x
,, Two of these rectangles are joined, with no overlap, to make this L-shape.
j «
Not drawn
accurately
1 6X
S ) ¢
X W
5
The perimeter of the L-shape is 98.8 cm
Work out the value of the perimeter of one of the rectangles.
[4 marks]
fLx .- 6.5
e Shp S
one dhapm G = xS & =2¢5.7
Answer 5- g Z : 2 CITY -7—
Turn over »
i i
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26

28 Written as the product of prime factors,
| 12600 =2 x 32 x 52x 7
\ : and
; 14112=25x 32 x 72

‘ Work out the highest common factor (HCF) of 12600 and 14112
Give your answer as an integer.

| ol e T

[2 marks]

(s

Answer % O (’L

1600

v
HCF DA oueiap

END OF QUESTIONS

2 6

1B/M/Nov22/8300/2F
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